[lustrate, with the help of aframework, the functions and relationships between
the following items: Arithmetic L ogic Unit, Memory Unit, Machine Cycle,
Bus, Register, Decoder, Operand, Operation Code. (25 %)

Describe the processes of aemail transmitted in a network using the TCP/IP
protocol. (25 %)

Short answer  (20%)

(1) Convert ( 16),0 toitsequivaent two's complement form using the pattern of
eight bits.

(2)Convert the 5-bit two's complement representation 11010 to its equivalent
decimal number.

(3)Comment on the problem of coding an integer in one's complement notation by
comparison with coding in two’s complement notation.

(4)Suppose that a machine programmed with an insertion sort algorithm requires
an average of 1 second to sort alist of 100 names. How long do you estimate
that it takes to sort alist of 1000 names?

1 (30%)
(1)
2) ( )
function (3 )
variable (3 )
.object (1 )
.method (1 )

property (1 )

Private Sub Form Activate()
income = inputbox (" "
FontSize = 20
print "92
FontSize =14
Select Case income
Case Is <= 350000
tax_rate = 0.06
discount=0
Case 350001 To 990000
tax_rate=0.13
discount = 25900
Case 990001 To 1990000
tax_rate=0.21
discount = 105100
Case 1990001 To 3700000
tax_rate=0.3/
discount = 283300
Case Is >= 3700001

tax_rate=0.4
discount = 655300
End Select
tax = income * tax_rate
Print " . "; Tab(20); Format(income,"###") & "
Print " . " Tab(20); Format(tax_rate, "0%")
Print " . " Tab(20); Format(tax,"###0") & "
Print " . "; Tab(20); Format(dicount, "#,##0") & "
Print " ----e-eemeeem oo "
year_tax = tax — discount
Print " . "; Tab(20); Format(year_tax, "###0") & "
End Sub




